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1. A driver affected by a prescription medication cannot be charged with impaired driving (e.g., 

DUI or DWI).  
a. True 

b. False – correct response 

 

2. _________________ is commonly involved in crashes in which older drivers are at-fault. 

a. Alcohol impairment 

b. Speeding 

c. Failing to yield the right-of-way – correct response 

d. Aggressive driving 

 

3. A Lane Departure Warning (LDW) system actively steers a vehicle to keep it within its lane. 

a. True 

b. False – correct response 

 

4. Common self-regulating driving situations include: 

a. Favorable weather 

b. Little or no traffic 

c. Familiar roads 

d. Nighttime – correct response 

 

5. There are several important keys to benefitting from vehicle safety technology. A wise mantra 

by which to live is: 

a. Know Thy Vehicle – correct response 

b. Know the Road 

c. Always Trust It 

d. Rely on It 

 

6. Roundabout intersections are statistically more risky than traditional, conventional 

intersections. 

a. True 

b. False – correct response 

 

7. Before entering an intersection, drivers should: 

a. Tap 6! 

b. Cover the brake – correct response 

c. Downshift to a lower gear 

d. Slow down and move over 
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8. When approaching an emergency vehicle stopped along the side of the road, drivers should: 

a. Move over 

b. Slow down 

c. Slow down or move over – correct response 

d. Activate their hazard flashers 

 

9. Which of the following are considered vulnerable road users? 

a. Truck and bus drivers 

b. Construction equipment operators 

c. Railroad engineers 

d. Pedestrians and bicyclists – correct response 

 

10. A vehicle equipped with a backup camera means a driver need not look behind when in 

Reverse gear. 

a. False – correct response 

b. True 

 

11. Blind spot warning systems prevent drivers from changing lanes or merging when another 

driver is nearby. 

a. True 

b. False – correct response 

 

12. In clear, dry conditions, you should follow at least ________________ behind a vehicle 

ahead. 

a. One vehicle length for every 10 mph 

b. 2 seconds 

c. 2 to 3 seconds 

d. 3 to 4 seconds – correct response 

 

13. Three (3) speed selection factors include how well you can see, your tires’ grip on the road, 

and: 

a. The type of fuel your vehicle uses 

b. Available driving space – correct response 

c. Your comfort level 

d. Your car’s age 

 

14. Which system/s is/are designed to help you manage space to the sides of your vehicle? 

a. Lane Departure Warning 

b. Lane Keeping Assistance 

c. Lane Centering 

d. All the above – correct response 
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15. Adaptive Cruise Control (ACC) technology is a reliable, fail-safe system for managing space 

ahead. 

a. True 

b. False – correct response 

 
16. Drivers 55 years old and older are over-represented in crashes when turning left from STOP 

signs. These crashes are typically the result of: 

a. Excess speed 

b. Faulty vehicle equipment 

c. Failing to yield the right-of-way – correct response 

d. Being overly cautious and courteous 

 

17. When using a phone when driving, “hands-free” is safer than “handheld.” 

a. True 

b. False – correct response 

 

18. The first body function affected by alcohol is _______________________. 

a. Vital functions 

b. Judgment – correct response 

c. Muscle control 

d. Slurred speech 
 
 

19. The THC in marijuana affects this driving ability: 

a. Judging space 

b. Physical coordination 

c. Visual perception 

d. All the above – correct response 

 

20. What are some common causes of car-motorcycle collisions? 

a. A passenger fails to yield the right-of-way when turning left across the path of an 

oncoming motorcyclist 

b. A driver fails to yield the right-of-way when turning right from a red traffic signal or 

from a STOP sign 

c. A motorcyclist cuts in front of a passenger vehicle driver 

d. A & B – correct response 

 


